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Semester - 1

P131 / AEC001 20 Marks

English Communication

1) Discuss the barriers in communication?
2) What are the features of effective communication?
3) How to overcome barriers in communication?

4) What is upward and downward communication?

P131 / CMP501 20Marks

Mathematics

a) Explain Hamiltonian graph
b) Explain subtraction of metrics
c) Convert (I5I5)sin to decimal equivalent number

d) Write down logical identities

P131 / CMPSOZ 20Marks

Problem Solving using Computers

1) Differentiate between flow chart & Algorithm?
2) Explain any 5 string function?
3) Write a note on pointer arithmetic.

4) Explain recursive function with Example

P131 / CMP503 20Marks

Programming using in C++

1) Give various features of OOp language?
2) Define in heritance Explain type of in heritance
3) What s Inline function

4) Why do we use virtual function



SEMISTER - 3

P131 / ICT 151 20Marks
ICT 151 IT & E-Learning skills

1)
2)
3)
4)

How e-learning is beneficial in corporate training and development

What is the open education / resource? Is OER the same as e-learning
What is Massive open online course? Explain with any example

What are the best productivity software tools for students to enhance their

learning skills?

P131 / CMP507 20Marks

Operation System

1)
2)
3)
4)

What is operating system?
Write a note on clustered system
What is Virtual Memory?

What are three requirements of critical section?

P131 / CMP508 20Marks
Web Technology

1) Whatis HTML? Why we require HTML?
2) Define the id and Class selectors
3) Write the features of JavaScript

4) How to displaying the information using JavaScript Code

P131 / CMP509 20Marks

Data Base Management System

1)
2)
3)
4)

Define data list the various types of data
Describe the various components of ER model
What is RDBMS?

What is concurrency control?



P131 / CMP332 20Marks
Quantitative Aptitude

1) i) A man standing at a point P is watching the top of a tower, which makes an angle

2)

3)

of elevation of 300 with the man’s eye. The man walks some distance towards the
tower to watch its top and the angle of the elevation becomes 600. What is the

distance between the base of the tower and the point P?

A) 4units B) 12 units
C) Data inadequate D) None of these

ii) Two ships are sailing in the sea on the two sides of a lighthouse. The angle of
elevation of the top of the lighthouse is observed from the ships are 300 and 459
respectively. If the lighthouse if 100m high, the distance between the two ships is:

A) 173m B) 200m
C) 273m D) 300m
i) Ahallis 15m long 12m broad. If the sum of the areas of the floor and the ceiling is

equal to the sum of the areas of four walls, the volume of the hall is:
A) 720 B) 900

C) 1200 D) 1800
E) None of the above

ii) In a shower, 5 cm of rain falls. The volume of water that falls on1.5 hectares of

ground is:
A) 75cu. M B) 750cu.M
C) 7500cu. M D) 7500cu. M

i) 39 persons can repair a road in 12days, working 5 hours a day. In how many days

will 30 persons, working 6 hours a day, complete the work?



~

A) 10 B) 13
C) 14 D) 12
E) None of these

ii) 3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a

day must 4 pumps work to empty the tank in 1 day?

A) 9 B) 10
C) 11 D) 12

i) Atrader owes a merchant Rs. 10,028 dye 1 year hence. The trader wants to settle the account
after 3 months. If the rate of interest 12% per annum, how much cash should he pay?

A) Rs.9025.20 B) Rs. 9200
C) Rs. 9600 D) Rs. 9560

ii) A man buys a watch for Rs. 1950 in cash and sells it for Rs. 2200 at a credit of 1

year. If the rate of interest is 10% per annum, the man:

B) gains Rs. 55 B) gains Rs. 50
C) losses Rs. 30 D) gains Rs. 30
P131 / CMP513 20Marks

E Commerce Technologies

1) Define the term Network & Internet
2) State the Advantage of E-commerce
3) What is Traditional Marketing

4) What is Digital signature



P131 / CMP514 20Mars
Advance Java

1)
2)
3)
4)

Explain JDBC architecture
Explain JSP and tell its uses
what is spring? Shat are benefits of spring frame work?

What is JSON? Explain the features of JSON

P131 / CMP515 20Mars
Linux Administration

1)
2)
3)
4)

What is shell?
What is VI editor?
How to configure NFS?

What is SSH Protocol?



